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Q1. Shade in sections of the circle to represent the fraction.
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Q2 Draw different types of lines .

a. Standing or vertical line =

b. Slanting line =

c. Sleeping or horizontal line=

d. Curve=




Q3 Three digit additions.

2 4 6 3 9 1 7 8 2 5 6 4
+ 1 5 4 +2 6 8 +0 9 5 + 2 3 9
2 4 2 3 8 5 6 5 4 4 9 8
+ 2 7 9 + 2 4 6 + 2 4 8 + 4 0 7
6 2 4 3 4 7
+ 2 9 0 + 1 6 5
Q4. Subtract the following numbers.
2 1 5 4 3 9 6 4 2 3 4 7
-0 6 7 -2 7 4 -1 5 7 -2 1 8
9 7 6 7 8 4 2 1 0 3 4 5
- 5 4 9 -0 0 O -0 5 8 -1 2 7
6 4 3 5 4 8
-1 4 7 - 2 3 9

Q5.Word problems.

a. Riya went to the grocery store. She brought 15 packets of cookies and 25 packets of
Noodles . how many packs of groceries did she buy in all?

b. Ram has 70 Rupees. Rim has 40 Rupees. How many rupees do they have together.

c. lread 21 pages of my English book. Today | read 50 pages of my English book .what
Is the total number of pages that I read?




d. Rohan catches 25 fishes in a lake. He puts 18 fishes back. How many fishes does
He have now?

e. Riya has 50 chocolate sana has 16 how many more chocolate Riya have?

f. Inaschool are 240 girls and 400 boys. How many pupils are there in that school?

g. There are 31 birds in a tree. A loud noise scares 16 birds away. How many birds
are left in the tree?

Q6 . Draw the line using ruler.

a. 5Cm=
b. 3Cm=
c. 9Cm=
d 4Cm=
e. 2Cm=
f. 10Cm=
g 12Cm=
h. 25Cm=
i. 45Cm=
jo 65Cm=

Q7. Conversions the following units in meter to centimeter.

a. 21 m=6100cm b. 48 m=4800cm c. 10m=
1m =100 cm. Im=100cm
21m =21x100 48 m = 48x100

Ans = 2100 cm Ans = 4800 cm

cm




d 15m= cm

g.44m= cm

j-91m= cm

Q8 Convert following units in kilometer to meter.

a. 5km=

1 km = 1000 m.

6 km = 6x1000.
Ans = 6000 m.

d. 46 km = m.

g.51km= m.

Q9 One digit Multiplication .
a. 4x2=
d 7x7=
g 9x4=
j. 3x8=
Q10.Two digit multiplication.

52 20
X3 X 5

Q11. Answer the following questions .
a. One man has a two legs how many legs do 5 men have?

e. 32m= cm f. 60m= cm
h. 78 m= cm i. 30m= cm
b. 12 km = m c. 25km= m.

1km=1000m.
12 km = 12x1000.
Ans = 12000 m.

e. 8km= m. f. 60 km = m.
h. 83km= m i.3km= m.
b. 7x3= c. 9x6=
e. 8x4= f.6x6=
h.5x9= i.2x7=
4 8 55 42 39 61
X 6 x 7 x 4 x 8 x 2

9 2 6 3 36
x 9 x 4 X 6




Ans. 5 men have 10 legs .
b. There are 7 days in a week how many days are there in 15 week?

c. How many shoes are there in 5 pairs?

d. Each girl has 7 dolls .if there are 12 girls. How many dolls are there in total?

e. One car has a 4 wheels. How many wheels do 9 cars have ?

f.  One man has 10 fingers. How many fingers do 7 men have?

Q12. Write the Roman numbers. (learn 1 To 20)

a. 4= b. 7= c.11= d. 10=
e.6= f.17= g.12= h. 2=
i.15= j.20= k.9= l. 5=
m. 8= n. 19 =

Q13. Write tally marks.
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Mow, can you draw the tally marks?
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